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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

1-  With the pace of life in Indian metros getting faster by the day, many of the old Indian

traditions have fallen into --------- and are no longer practiced.
1) indifference 2) equilibrium 3) abeyance 4) annoyance
2-  We thought he was reliable till we realized that he had given us a ------ -— address.
1) dishonest 2 fake 3) skeptical 4} vulnerahle
3-  His expression was gloomy at every game; | don’t think I saw him smile even when his
team ---—----- a hundred points,
1) scored 2) connected 3) achieved 4} displayed
4  The approaching rain gave us a ----—--- excuse to escape the boring party.
1) harmless 2) monotonous 3) secret 4) plausible
5-  The relationship between the earthworm and the garden is -—---- : the garden provides

a home for the earthworm, while the earthworm provides manure for the garden and
keeps it fertile.

1} impractical 2) symbiotic 3) latent 4) paradoxical

6-  When it was discovered that he had been operating as a spy, he was badly -------- in the
press as being a traitor.
1) incorporated 2) censured 3) concerned 4) constrained

7-  Contemporary research into the origins of DelLong culture indicates that a hunter-
gatherer society was established about 2,000 years earlier than was -----—- thought.
1) similarly 2) sufficiently 3) previously 4) accurately

8- An attempt was made to ignore this brilliant and irregular book, but in -——-- i it was
read all over Europe,
1) jeopardy 2) chaos 3) contempt 4} vain

9-  He strictly warned him that if he did not take the medicine in time, the pain would not

1) subside 2) degrade 3) avoud 4) collapse

10- To reduce ——--—-- , the company will no longer mail monthly paper statements to those
with access to online statements,
1) fright 2} hesitation 3) conflict 4) waste

PART B: Clozc Passage

Directions: Read the following passage and decide which choice (1), (2), {3), or {4) best fits each
space. Then mark the correct choice on your answer sheet.

Becoming a mother is a major transition, points out clinical psychologist Ann
Dunnewold. (11) --=-=----- in Dallas. Tex.. provides support for mothers. New mothers
give up autonomy, sleep and relationships (12) ----—------ to the relentless needs of a baby,
On top of that, they are also expected to be in a constant state of bliss and fullillment
(13) -=-----—-- their new role. “There’s a lot of pressure to be the perfect mother,
(14) ----mmmm- they re not coping.” Leahy-Warren says.
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Making matters worse, research that demonstrates the importance of early childhood
experiences in determining future success and happiness (15) ---------- on moms to get
it right.

1) practices 2) whose practice  3) practicing 4) she practices

1) with tending 2)tend 3) to tend 4) that tend

1) of 2) by 3)in 4) with

1) and they are alraid to say 2) while afraid to say

3) but they say they are afraid of what  4) then they say afraid they are

1) and additional pressure 2) add pressure

3) puts additional pressure 4) and added pressure

PART C: Reading Comprehension:
Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or{4). Then mark the correct choice on your answer sheet,

16-

PASSAGE 1:

Big Sagebrush is a coarse, many-branched. pale-grey shrub with vellow flowers and
silvery-grey foliage, which 1s generally 0.5-3 m tall. A deep taproot 1-4 m in length,
coupled with laterally spreading roots near the surface, allows sagebrush to gather water
from both surface precipitation and the water table several meters beneath. Big
sagebrush that is over a meter tall is an indicator of arable land. because it prefers deep,
basic soils. Sagebrush is generally long-lived once it makes it past the seedling stage.
and can reach ages of over 100 years.

Big Sagebrush has a strong pungent fragrance (especially when wet). The taste is
bitter and. together with the odour. serves to discourage browsing by many herbivores.
It is an evergreen shrub, keeping some of its leaves year-round (although it loses many
of them in the late summer). The leaves—attached to the branches at the axillary
nodes—are wedge-shaped. 1-3 cm long and 0.3-1 cm broad. with the wider outer tips
divided into three lobes. The leaves are covered with fine silvery hairs. Big Sagebrush
flowers in the late summer or early fall. The small vellow flowers are in long, loosely-
arranged tubular clusters. The fruits are seed-like. and have a small amount of hairs on
the surface. The Cahuilla used to gather large quantities of sagebrush seed, and grind it
to make flour. Big Sagebrush can also reproduce through sprouts, which shoot up from
the underground rhizome. The sprouts are an extension of the parental plant while
seedlings are completely individualistic to any other plant. This is due to the sprouts
being connected to already healthy and associated plants while the new seedlings will
start anew,

It is stated in the passage that -------————----

1) it is possible to make flour out of Hdgﬂhl’u‘uh seed

2) sagebrush leaves have wider outer tips of two lobes
3) sagebrush is best fed from often surface precipitation
4) the seedling sprouts of sagebrush grow in late autumn
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The passage mentions that -——-—-—- i

1) stems of sagebrush are covered with fine hairs

2) sagebrush can be reproduced through its rhizome

3) sagebrush seedling are different from any other plant

4) evergreen shrubs lose some leaves in the late summer

We may understand from the passage that -—--—————--

1) fruits of sagebrush are shaped like small dark green apples

2) tall sagebrushes of 3 m have roots of over 4 m in length

3) the land in which Big Sagebrush grows is often farmable

4) big Sagebrush is a coarse plant with at least five main branches
The passage points to the fact that ——--—--mmm- .

1) most sagebrush live to over 100 years of age

2) axillary nodes have double wedge-shaped leaves

3) mammals cannot easily feed on sagebrush

4) sagebrush fowers fall in the early fall

The word ‘pungent’ in the passage (underlined) is closest to --———-vnem- .
1) “cold’ 2) “mild’ 3) ‘sweet’ 4) “hot’

PASSAGE 2

The plant cuticle is a layver of lipid polymer impregnated with waxes that is present on
the outer surfaces of the primary organs of all vascular land plants. It is also present in
the sporophyte generation of homworls, and in both sporophyte and gametophyte
generations of mosses. The plant cuticle forms a coherent outer covering of the plant
that can be isolated intact by treatment of plant tissue with enzymes such as pectinase
and cellulase. The cuticle is composed of an insoluble cuticular membrane impregnated
by and covered with soluble waxes. Cutin. a polyester polymer composed of inter-
esterified omega hvdroxy acids which are cross-linked by ester and epoxide bonds. is
the best-known structural component of the cuticular membrane. The primary function
of the plant cuticle is as a water permeability barrier that prevents evaporation of water
from the epidermal surface. and also prevents external water and solutes from entering
the tissues. In addition to its function as a permeability barrier for water and other
molecules (prevent water loss), the micro and nano-structure of the cuticle confer
specialised surface properties that prevent contamination of plant tissues with external
water, dirt and microorganisms. The plant cuticle is one of a series of innovations.
together with stomata, xylem and phloem and intercellular spaces in stem and
later leal’ mesophyll tissue. that plants evolved more than 450 million vears ago during
the transition between life in water and life on land. Together. these features enabled
upright plant shoots exploring aerial environments to conserve water by internalising
the gas exchange surfaces, enclosing them in a waterproof membrane and providing a
variable-gperture control mechanism. the stomatal guard cells, which regulate the rates
of transpiration and CO:z exchange.
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The passage mentions that -——-—-—- i

1) cuticular is composed, among other components, of cutin
2) omega hydroxy acids cross-link ester and epoxide bonds

3) permeability depends on the nano-structure of the cuticle
4} cuticle can in themselves contamination of plant tissues
According to the passage, ---—--=-----

1) guard cells create CO» exchange rhmugh transpiration

2) plant cuticle protects the plant from microorganisms

3) sporophyte generation of hornworts generate mosses

4) phloem forms inside the intercellular spaces of stomata

It is mentioned in the passage that ————---mmmeax

1) waterproof membranes develop into stomatal guard cells
2) plant shoots internalise their surfaces through gas exchange
3} insoluble cuticulars in a plant are covered with insoluble waxes
4) pectinase can help remove the plant cuticle from the plant

The passage DOES NOT contain any information on the --——-----—- of plant cuticles,
1) “deseription’ 2) *composition”  3) ‘reproduction’  4) “evolution’

The word *aperture’ in the passage (underlined) is closest to -----——eaaeuuuv,

1) ‘gap’ 2) “floor’ 3) “link’ 4) “wall”

PASSAGE 3

Desert climate, also known as an arid climate, is a climate that does not meet the criteria
to be classified as a polar climate. and in which precipitation is too low to sustain any
vegetation at all, or at most a very scanty shrub. An area that features this climate usually
experiences less than 250 mm per year of precipitation and in some years may
experience no precipitation at all. In some instances, an area may experience more than
250 mm of precipitation annually, but is considered a desert climate because the region
loses more water via evapotranspiration than falls as precipitation. There are usually 2
or three variations of a desert climate: a hot desert climate. a cold desert climate and.
sometimes, a mild desert climate. Furthermore. to delineate "hot desert climates” from
"cold desert climates". there are three widely used isotherms: either a mean annual
temperature of 18 “C, or a mean temperature of 0 *C or -3 °C in the coldest month, so
that a location with a "BW" type climate with the appropriate temperature above
whichever isotherm is being used is classified as "hot arid", and a location with the
appropriate temperature below the given isotherm is classified as "cold arid". To
determine whether a location has an arid climate, the precipitation threshold is
determined. The precipitation threshold involves first multiplying the average annual
temperature in “C by 20, then adding 280 if 70% or more of the total precipitation is in
the high-sun half of the vear, or 140 if 30%-70% of the total prcupllatmn is received
during the applicable period, or 0 if less than 30% of the total precipitation is so received.
If the area's annual precipitation is less than half the threshold. it is classified as a desert
climate.
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26- The passage suggests that -—————-- .
1) desert climates have three high and two low variations
2) *precipitation threshold™ does not occur in low temperatures
3) polar climate is, in fact, a very cold desert climate
4) there are not as many mild desert climates as cold ones
27-  The passage mentions that an arid elimate ———-—--——.
1) can get most of its precipitation in the sunniest part of the vear
2) has three widely used isotherms: -3 °C, 0°C or 18 °C
3) receives 30%—T70% of its total precipitation in the winter
4) does not have a regular precipitation threshold in summertime

28- The passage best considers ———----—-- as a determining feature of an arid climate.
1) *frequent droughts’ 2) *lack of wild life’
3) ‘low precipitation’ 4) ‘little vegetation”

29-  We understand from the passage that ——---——- 5

1) desert areas are subject to a lot of evapotranspiration
2) hot arid deserts are nearly three times as hot as cold deserts
3) shrub grow, if'at all. only in mild desert climates
4) a mild desert has a mean annual temperature of 18 °C
30-  The word “delineate’ in the passage (underlined) is closest to -——-—--n-=- :
1) “differ’ 2) *define’ 3) ‘function’ 4) *formulate’
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